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I'm providing 100% correct quiz solution.

You can visit my YouTube channel for more quiz solution,
also final year project including project assignments, and
viva.

https://www.youtube.com/channel /UCINsFwDiB62SVal
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STA301:QUIZ-2 Quiz Start T

Question # 1 of 10 ( Start time: 07-48:22 AM. 01 February 2021 )

Which of the following statements is not an example of a continuous random variable?
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Select the correct option
The weight gain in pounds per month for a calf

&

The price for cheese cake in New York Style cheese cake

O

O

The time it takes you to finish this statistics test

The time to failure for an electronic system
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STA301:QUIZ-2 Quiz Start Time: 07:48 AM. 01 February 2021

Question # 2 of 10 ( Start time: 07:48:43 AM. 01 February 2021 ) Total Marks: 1

Consider a large population with a mean of 160 and a standard deviation of 20. A random sample of size 64 is taken from this population.
What is the standard deviation of the sample mean?
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Select the comrect option T\
3.125

0 N )
2500 %0 i .

1.654

3.568
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Question # 3 of 10 ( Start time: 07-49:05 AM. 01 February 2021 )

Suppose K is equal to the number of heads. when you throw a coin three times. The possible values of X are:
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STA301:QUIZ-2

Question # 4 of 10 ( Start time: 07-49:25 AM. 01 February 2021 )
If we have fix) = dx, O=x<1, then fix) 5 a:
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Select the correct option —

Continuous random variable

: S

Distribution function

Frobability density function x ;

®
)

Probability distribution
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STA301:QUIZ-2 Quiz Start Time: 07:48 AM. 01 February 2021

Question # 5 of 10 ( Start time: 07-49:40 AM. 01 February 2021) Total Marks: 1
The sum of the probabilities of bivariate probabilities function fX. ) is ONE then what will be the value of sum of its marginal probability
function f{x)?

Q

Select the correct option e (\

Will be one
e 4

May and may not be one

O y
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Will be the average of two variables

Depends on the Y variable
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Question # 6 of 10 { Start time: 07:49:58 AM. 01 February 2021 )

If the second moment ratio is less than 3 the distribution will be:

Select the correct option

Mesokurtic % \

- Leptokurtic \ <
-

Platykurtic
b

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

MNone of these
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Question # & of 10 ( Start time: 07:50:29 AM, 01 February 2021 )
Which of the probability distributions has three parM@?
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Select the correct option

Binomial distribut

Mormal distribution

Hypergeometric distribution

Paoisson distribution
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Question # 9 of 10 { Start time: 07:50:42 AM. 01 February 2021 )
Let X and % are TWO random vaniables. Which property of expectation is true?

S

Select the correct option \
E(X+Y)=2"{EX) + EM)}

E(X + Y) = E(X) + E(Y) - E(XY) ‘%>‘
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O

O

E(X+Y)=2EX+Y)

O

EX+Y)=EX)+EM)
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STA301:QUIZ-2 Quiz Start Time:

Question # 1 of 10 { Start time: 07:52:46 AM. 01 February 2021 )

lUsing the normal approximation to the binomial distribution with n= 3 and p= 0.0571 the value of mean is:
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Question # 2 of 10 ( Start time: 07:53:13 AM. 01 February 2021)

When a coin is tossed 3 times, the probability of getting 3 or less tails is

Select the correct option Eﬁ
\. |

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

1/2

O

o Q\% ____

35
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Question # 3 of 10 ( Start time: 07:53:26 AM. 01 February 2021 )
Which of the probability distributions has three parameters?

Select the correct option &\
Binomial distribution \x

Mormal distribution

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

Hypergeometric distribution

Poisson distribution
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Question # 4 of 10 ( Start time: 07:53:47 AM. 01 February 2021 )

In a normal distribution how much area lies between pu + 30
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Select the correct option m

70%

O

89%
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B8%

99.73%
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Question # 5 of 10 ( Start time: 07-54:03 AM. 01 February 2021)

In a normal distribution how much area lies between u + 20

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les
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Select the correct option V :

594%

© N
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85 45% ) o
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Question # 6 of 10 ( Start time: 07:54:13 AM. 01 February 2021 )
If E(x) = 2.5 then E(ZX+0)=___

&

Select the comrect option é
25 Q
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Question # 7 of 10 { Start time: 07:54:32 AM. 01 February 2021 ) Total Mari

We can apply binomial distnibution formula, when we are drawing a sample from finite population without replacement and the sample
size "n’” is not more than .._..% of the population size N.
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Select the correct option Q
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Question # § of 10 ( Start time: 07:54:49 AM, 01 February 2021 )

Mormal approximation to the binomial distribution is used when:

v§r

Select the correct option T~
np=5 \

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

O

O ng=5 Q

Both of the above

®
ko d

Mone of the above

( hedd held Reid Roid Reid Roid Reid Roid heid Rt Roid Reid Roid Reid Roid Reid Roid Roid Roid Roid Roid Roid heid Roid Loid heid Roid heid Roid Leid |
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Question # 9 of 10 ( Start time: 07:55:05 AM. 01 February 2021 ) Total Marks: 1
We can obtain the individual probabilities of x and y from the joint probability function/distribution of fix.y). Such individual probabilities are
known as

| hedd Roid hoid Reid Roid Roid Roid Roid Roid Roid Roid Roid heid Roid Roid Roid Loid Les

V 4
Select the correct option V' f—“\
S

Marginal probabilities

F
= o A

Bivariate probabilities
0 N \ .

Separate probabilities \ —

Independent probabilities
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Question # 1 of 10 { Start time: 07:59:06 AM, 01 February 2021} Total Mark

If the sampled population has a normal distribution. when is the sampling distribution of the sample mean also a normal distribution?
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Select the correct option

| i —
COnly when the sample size is at least 100 ‘ V \\

COnly when the sample size is smaller than 30

Always @
<L

Only when the sample size is at least 30

O
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Question # 2 of 10 ( Start time: 07:59:51 AM. 01 February 2021 )

Which of the following statements is not an example of a continuous random variable?

\Y,
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Select the correct option

The weight gain in pounds per month for

O

The price for cheese cake in Q rk Style cheese cake K

® -

The time it takes you to finish this statistics test

The time to failure for an electronic system
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Question # 3 of 10 ( Start time: 08:00:13 AM. 01 February 2021 )

The probability mass function p(x) of a discrete random variable X is: P(0)=0.10. P(1)=0.15.
P{2)=0.45, P(3)=0.05, and P(4)=0.25.
What is the value of cumulative distribution function for x=2
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Select the correct option
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Question # 4 of 10 ( Start time: 08:00:30 AM. 01 February 2021)

In & binomial experiment successive trials are:
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Select the correct option

Dependent ~
O V' ,)

Independent
. S
b _d

ouq§

Mone

p
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Question # 5 of 10 { Start time: 08:00:48 AM. 01 February 2021 )

Match the binomial probability P(x< 23) with the correct statement.

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

™

Select the correct option \ \

P(there are at most 23 successes)

P (there are fewer than 23 successes)
X
= O

P (there are more than 23 successes)

P (there are at least 23 successes) %
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Question # 6 of 10 ( Start time: 08:01:02 AM, 01 February 2021 )

The two mutually exclusive outcomes in a Bernoulli trial are usually called:
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Select the correct option

Success and failure V

- %

Variable and constant

O

Mean and variance :-\x \\\

With and without replacement e trials are independent
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Question # 7 of 10 ( Start time: 08:01:16 AM. 01 February 2021 )

If the first moment ratio is equal to 0, then the distribution will be:
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Select the correct option

Positively Skewed

O

Leptokurtic
Megatively Skewed
Symmetrical

M

b _d

ﬁz%’
i/\\—‘.

XX LRXAERRXLXLDXDAERYRADRYRLLELAEALRLYADALALALRYRAXALYAXLARXYARXLDYARYRLLAYLYLYALAYALRYLXDILALALALYLALRLYRLLYLALLRYLLXILADAXYAXDIXALALLIALXATXXIXEIRXXXISRNR

TR VIR VR VIR VI TR VIV IR VIV TR VIOV T VIRV T IO TRV IV I IV TR VI I VI I VIV I VI VIV I ¥ I VIV TV TV IV TI T VI ¥ I VIV T VTV T VT VI VT ¥ IV TV IV T ¥ TV T VUV TV Y T VY T VY TR VY T VY T VY T VY R VY e YOy




PEAXRX XX AEREA AR AR AR AT
VTV TV eV VeV Ve Ve VeV Vo Ve VeV Ve Y VeV Ve Y VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Y Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Vo Ve Vo Ve Ve Ve Vo Vo Ve Ve Vo

STA301:QUIZ-2 Quiz

Question # & of 10 ( Start time: 08:01:33 AM. 01 February 2021 )

What does it mean when a data set has a standard deviation equal to zero:

LN\

Select the correct option \

Mean = median = mode

| hedd Roid heid Reid Roid Roid Roid Reid Reid Roid Roid Roid Leid Roid Roid Roid Leid Les

All of the values in the data are same 1 \
. Q

The mean of the data is also zero

All values of the data appear with the same frequency
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Question # 10 of 10 { Start time: 08:02:05 AM. 01 February 2021 ) Total Marks:

A sales firm receives different calls from clients. If someone says, today it will receve “at most 3 calls”™. How many calls will be received?
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Select the correct option
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Thank you For Watching©
Share with your fellows
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